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1. (p.47 4.2-Ex4 O R? IZHB\W\T

(a) a1 =(2,1,0),as = (~1,0,1), a3 = (0,2, —2) FHEA LT I L 2Rt
(b) a = (—5,—2, 1) OD%EE B= {al, as, (1,3} &:Egj—éﬁkﬁ%*&)i
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2. (p.60 4.5-Ex14 revised and same as 11.2) 7T A - ¥ a3y bOERILIEIZ
£0, MORZ Ph S R OIERELEEZ Fh.

z1 = (-2,1,0), o = (-1,0,1), &3 = (1,1,1)
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3. (p.78 5.3-8.1(b)) 14l A= | =7 2 1 | BRMAITRER SIEEMBDITH %
2 1 2
ROTHAME K. (25 1K)
1 0 -1 -2
4. (p.97 6.2-Ex4) A= | -1 1 2 3 | &35%. R* 75 R DG f
2 1 -1 -3

Z f(r)=Ax THEZ5LE, fOImfBEIU Kerf ODIRIEE 1 FHDRIK % KD K.
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